T-SLOTTED ALUMINUM SOLUTIONS N}'}'FAHEK

SECTION 3

15 SERIES

BASE PLATES / FLOOR TO FRAME

BASE PLATES FOR BASE PLATES FOR
CASTERS LEVELING FEET

DELUXE FLOOR MOUNT
BASE PLATES

www.faztek.net
-105-



@;}&FAZTEK FLOOR TO FRAME

15BP2500

15 SERIES FLANGE MOUNT CASTER BASE PLATE

N [~ 5/16-18 Tap Thru N
P / (4) ples
o N / N
- S ! Rl
- >~ Drill Thru & C-Bore i .y
875 A } /" Fors/16 SHCS St
) e 1.50 ™ .‘ ‘ . ;J‘ (4) ples - '
P ‘,a _ S
e > : g

For T-Slot Mounting

¢ Bolts on to end of extrusion or to T-slot

¢ For mounting casters see pages 228-234 For Extrusion End Mounting

¢ For tapping service see page 161

RECOMMENDED CASTERS FOR
RECOMMENDED HARDWARE FOR

MOUNTING TO EXTRUSION T-SLOT MOUNTING TOBASEFLATES
Qty Description Part Number Pg # Desc"ptlon Part No.
4 5/16-18x 7/8 SHCS 13FA3327
220 | 4* SWIVEL CASTERW/BRAKE | 13cAsio2
4 5/16-18 ECONOMY T-NUT  15FA3501
220 | 4'RIGID CASTER 13CA8103
220 | 5'SWIVELCASTERW/BRAKE | 13CA8108
P 220 | 5'RIGID CASTER 13CA8110
RECOMMENDED HARDWARE FOR FORFASTASSEMBLY 220 | 3.5' SWIVELCASTERW/BRAKE| 13cA8113
MOUNTING TO EXTRUSION END USE15FA3502 -
J 220 | 3.5"RIGID CASTER 13CA8114
aty Description Part Number g 220 | 5 RIGID CASTER 13CA8115
4 5/16-18x 7/8 SHCS 13FA3327
220 | 5*swivELcasTERW/BRAKE | 13cAstie

* SEE CASTER SECTION FOR RECOMMENDED
HARDWARE TO MOUNT TO BASE PLATES

www.faztek.net
-106 -



T-SLOTTED ALUMINUM SOLUTIONS

5/16-18 Tap Thru

(4) Plcs

15BP2501

15 SERIES FLANGE MOUNT CASTER BASE PLATE

Drill Thru & C-bore
For5/16 SHCS
~ (4) ples

. 625 TYP

-,

1.75

FRITEK

N
W’

* Bolts on to end of extrusion or T-slot For Extrusion End Mounting
¢ For mounting casters see page 228-234

e For tapping service see page 161

RECOMMENDED HARDWARE FOR

RECOMMENDED CASTERS FOR

MOUNTING TO EXTRUSION T-SLOT MOUNTING TO BASE PLATES
Qty Description Part Number pg # Desc ription Part No.
4 5/16-18x 7/8 SHCS 13FA3327
229 4" SWIVEL CASTER W/ BRAKE 13CA8102
4 5/16-18 ECONOMY T-NUT 15FA3501
229 4"RIGID CASTER 13CA8103
229 5" SWIVEL CASTER W/ BRAKE 13CA8108
FOR EASTASSEMBLY 229 5"RIGID CASTER 13CA8110
RECOMMENDED HARDWARE FOR u
229 3.5" SWIVEL CASTER W/ BRAKE 13CA8113
MOUNTING TO EXTRUSION END USE 15FA3592
229 3.5" RIGID CASTER 13CA8114
Qty Description Part Number ./
4 5/16-18 X 7/3 SHCS 13FA3327 229 5"RIGID CASTER 13CA8115
229 5" SWIVEL CASTER W/ BRAKE 13CA8116

* SEE CASTER SECTION FOR RECOMMENDED
HARDWARE TO MOUNT TO BASE PLATES

www.faztek.net
-107 -




JJuI‘ﬂZTEK FLOOR TO FRAME

15BP2521

15 SERIES FLANGE MOUNT CASTER BASE PLATE

— 5/16-18 Tap Thru
/ (4) Ples
Drill Thru & C-Bore
For5/16 SHCS
// (4) Plcs

/ For T-Slot Mounting

HARDWARE

////' INCLUDED!

Material:
Steel w/ Black Oxide Finish

¢ Bolts on to end of extrusion or to T-slot

¢ For mounting casters see pages 228-234 For Extrusion End Mounting

¢ For tapping service see page 161

RECOMMENDED CASTERS FOR
MOUNTING TC BASE PLATES

Pg # Description Part No.

229 4" SWIVEL CASTER W/ BRAKE 13CA8102

229 4" RIGID CASTER 13CAB103
229 5" SWIVEL CASTER W/ BRAKE 13CAB108
229 5" RIGID CASTER 13CA8110

229 3.5" SWIVEL CASTERW/ERAKE| 13CAB8113

229 3.5"AIGID CASTER 13CA8114
229 5" RIGID CASTER 13CAB115

229 5" SWIVEL CASTER W/ ERAKE 13CAB116

* SEE CASTER SECTION FOR RECOMMENDED
HARDWARE TO MOUNT TO BASE PLATES

FIXTURE CART

www.faztek.net
-108 -



T-SLOTTED ALUMINUM SOLUTIONS <~FAITEK

15BP2523

15 SERIES FLANGE MOUNT CASTER BASE PLATE

. HARDWARE
¢ Bolts on to end of extrusion or T-slot INCLUDED!

¢ For mounting casters see page 228-234
e For tapping service see page 161

RECOMMENDED CASTERS FOR
MOUNTING TO BASE PLATES

Pg # Description Part No.
229 4" SWIVEL CASTER W/ BRAKE 13CAB102
229 4" RIGID CASTER 13CAB103
229 5" SWIVEL CASTER W/ BRAKE 13CAB108
229 5" RIGID CASTER 13CA8110

229 3.5" SWIVEL CASTERW/BRAKH  13CA8113

229 3.5" AIGID CASTER 13CA8114
MATERIAL HANDL]NG CART 229 5" RIGID CASTER 13CAB115
229 5" SWIVEL CASTER W/ BRAKE 13CA8116

* SEE CASTER SECTION FOR RECOMMENDED
HARDWARE TO MOUNT TO BASE PLATES

www.faztek.net
-109 -



<~FAITEK

15BP2503

FLOOR TO FRAME

15 SERIES FLANGE MOUNT CASTER BASE PLATE

Drill Thru & C-bore
For 5/16 SHCS ﬁ 5/16" Spring Pin
(1) Ples \ |

\f.

."i'.

¢ Bolts on end of extrusion or T-slot

¢ For mounting casters see pages 228-234
¢ For tapping service see page 161

¢ Includes 5/16" spring pin for proper

alignment

RECOMMENDED HARDWARE
TO MOUNT TO EXTRUSION T-SLOT

Qty Description Part Number
1 5/16-18x 7/8 SHCS 13FA3327
1 5/16-18 ECONOMY T-NUT ~ 15FA3501

RECOMMENDED HARDWARE
TO MOUNT TO EXTRUSION END

Qty Description Part Number
1 5/16-18x 7/8 SHCS 13FA3327

www.faztek.net
-110 -

“——sneepTii FOr T-Slot Mounting
(4) Plecs

For Extrusion End
Mounting

RECOMMENDED CASTERS FOR

MOUNTING TO BASE PLATES
Pg # Description Part No.
229 4" SWIVEL CASTERW/BRAKE | 13CA8102
229 4" RIGID CASTER 13CA8103

229 5" SWIVEL CASTER W/ BRAKE 13CA8108

229 5" RIGID CASTER 13CA8110

229 3.5" SWIVEL CASTER W/BRAKE| 13CA8113

229 3.5" RIGID CASTER 13CA8114

229 5" RIGID CASTER 13CA8115

229 5" SWIVEL CASTER W/ BRAKE 13CA8116

* SEE CASTER SECTION FOR RECOMMENDED
HARDWARE TO MOUNT TO BASE PLATES



S~FAITEK

T-SLOTTED ALUMINUM SOLUTIONS

15BP2502

15 SERIES HEAVY DUTY CASTER BASE PLATE

Drill Thru & C-bore
Fors/16 SHCS
(8) Ples

5 >.50

/\ .
4.00 1.50
3.00 :

o &’

.50

G

3.00

3/8-16 Tap Thru
1 (4) Ples

e Bolts on to end of extrusion or T-Slot

For Extrusion End

+ For mounting casters see pages 228-234 Mountin g

e For tapping service see page 82

RECOMMENDED HARDWARE
TO MOUNT TO EXTRUSION T-SLOT

RECOMMENDED CASTERS FOR

Qty Description Part Number
MOUNTING TO BASE PLATES
8 5/16-18X 7/8 SHCS 13FA3327
8 5/16-18 ECONOMY T-NUT  15FA3501 Pg # Description Part No.
230 5" SWIVEL CASTER W/ BRAKE 13CA8104
[
FORFAST ASSEMBLY 230 5" SWIVEL CASTER 13CA8105
RECOMMENDED HARDWARE USE™15FA3502 230 5" RIGID CASTER 13CA8106
TO MOUNT TO EXTRUSION END . /
- = 230 5" RIGID CASTER 13CA8107
Qty Description Part Number
* SEE CASTER SECTION FOR RECOMMENDED
8 5/16-18x7/8 SHCS 13FA3327 HARDWARE TO MOUNT TO BASE PLATES

www.faztek.net

111 -




<~FALT [K FLOOR TO FRAME

15BP2522

15 SERIES FLANGE MOUNT CASTER BASE PLATE

HARDWARE
INCLUDED!

* Bolts on end of extrusion or T-slot
¢ For mounting casters see pages 228-234
¢ For tapping service see page 161

RECOMMENDED CASTERS FOR
MOUNTING TO BASE PLATES

Pg # Description Part No.

229 4" SWIVEL CASTER W/ BRAKE 13CA8102
229 4" RIGID CASTER 13CA8103

228 5" SWIVEL CASTER W/ BRAKE 13CAB108

229 | 5'RIGIDCASTER 13CA8110
229 | a5 swiveLcASTERW/ BRAKE| 13castia
229 3.5" RIGID CASTER 13CA8114
TR, 226 | 5" RIGID CASTER 13CA8115

ol L R T

MEDIUM DUTY SHOP CART

229 5" SWIVEL CASTER W/ ERAKE 13CAB116

* 8EE CASTER SECTICN FOR RECOMMENDED
HARDWARE TO MOUNT TO BASE PLATES

www.faztek.net
-112 -



T-SLOTTED ALUMINUM SOLUTIONS \Eﬂr MTEK

15EX3060, 15QE3060 BASE PLATE

/\

6.00

Bolts on to end of extrusion or T-slot

* For stem casters see page 228

For leveling feet see page 234-235

For tapping service see page 161

e

75

Material:
Steel w/ Black Oxide Finish

Part No. 'A' Tap Thru
15BP2516 1/2-13
HARDWARE

INCLUDED! 156BP2512 5/8-11

4.50

MATERIAL CRADLE

LARGE DUTY SHOP CART

www.faztek.net
-113-



<~FAITEK

15EX1530, L, 15QE1530, L
ANCHORING BASE PLATE

Drill Thru for 1/2"
Floor Anchor -

Great for anchoring your
frame to the floor!

Drill Thru & C-bore for

5/16" SHCS (2) Plecs Part No. 'A' Tap Thru
15BP2550 3/8-16
15BP2551 1/2-13

RECOMMENDED HARDWARE FOR
MOUNTING TO EXTRUSION T-SLOT

FLOOR TO FRAME

« ¥

-
‘el
|
|
i
%

.
. i,
| .
|
it
- -
‘59, :’

_._/

* Bolts on to end of extrusion or T-slot
* For leveling feet see page 234-235

e For tapping service see page 161

RECOMMENDED HARDWARE FOR
MOUNTING TO EXTRUSION END

Qty Description Part Number Qty Description Part Number
Material:
2 5/16-18x7/8 SHCS 13FA3327 Aluminum w/ Clear Anodize 2 5/16-18 x 7/8 SHCS 13FA3327
2 5/16-18 ECONOMY T-NUT 15FA3501
15EX1530, L, 15QE1530, L
ANCHORING BASE PLATE
g « PN .
Drill Thru for 1/2" ) ‘-.iu'
::I e

Floor Anchor

Great for anchoring your
frame to the floor!

25

Drill Thru & C-bore for
5/16" SHCS (2) Ples

HARDWARE Part No. 'A' Tap Thru
INCLUDED! 15BP2517 |  3/8-16
15BP2518 | 1/2-13

Material:
Steel w/ Black Oxide Finish

www.faztek.net
-114-

* Bolts on to end of extrusion or T-slot
e For leveling feet see page 234-235
e For tapping service see page 161



T-SLOTTED ALUMINUM SOLUTIONS %:“FAZTEK

F ™ A 15EX1530, L, 15QE1530, L
i SS s BASE PLATE
3.00 N A " ~
’/ o . /__/
// --1I50 -
<\_; )
PNy .
Tl g
y
J5 7
I/

{
Drill Thru & C-Bore For 5/16

SHCS (2) Ples A— Part No. 'A' Tap Thru

15BP2561 3/8-16
156BP2562 7/16-14

156BP2580 1/2-13
15BP2564 3/4-10

Bolts on to end of extrusion or T-slot

For stem casters see page 228

For leveling feet see page 234-235

For tapping service see page 161

RECOMMENDED HARDWARE RECOMMENDED HARDWARE
TO MOUNT TO EXTRUSION T-SLOT TO MOUNT TO EXTRUSION END
Qty Description Part Number . Qty Description Part Number
Material:
2 5/16-18 x 7/8 SHCS 13FA3327 Aluminum w/ Clear Anodize 2 5/16-18 x 7/8 SHCS 13FA3327
2 5/16-18 ECONOMY T-NUT 15FA3501
_,/\\ A 15EX1530, L, 15QE1530, L
- i "\\
P N A DNy BASE PLATE
™~y e
: .
>

Drill Thru & C-Bore For 5/16

SHCS (2) Plcs A
¢ Bolts on to end of extrusion or T-slot
Part No. 'A' Tap Thru e For stem casters see page 228
15BP2513 3/8-16 e For leveling feet see page 234-235
HARDWARE - ) . |
INCLUDED! 15BP2514 1/2-13 For tapping service see page 161

156BP2508 5/8-11
156BP2510 3/4-10

Material:
Steel w/ Black Oxide Finish

www.faztek.net
-115-




<~FAITEK

15EX3030, 15QE3030, L

FLOOR TO FRAME

ANCHORING BASE PLATE

Drill Thru & C-bore for

A g | 5/16" SHCS (4) Plcs
ll!I "}‘- ~ I'I 5
"H". ; ‘.:' > 4-..\\
450 | T
: 150 300 Drill Thru for 1/2"
\ > =" Floor Anchor
75

Great for anchoring your
frame to the floor!

See page xx for lag bolts

0 ‘— 0y
FORFASTASSEMBLY
USE 15FA3502

= Bolts on to end of extrusion or T-slot
Part No. 'A' Tap Thru e For leveling feet see page 234-235
15BP2584 3/8-16 e For tapping service see page 161
15BP2552 1/2-13
RECOMMENDED HARDWARE FOR RECOMMENDED HARDWARE FOR
MOUNTING TO EXTRUSION T-SLOT MOUNTING TO EXTRUSION END
Qty Description Part Number Qty Description Part Number
Material:
4 5/16-18x7/8 SHCS 13FA3327 Aluminum w/ Clear Anodize 4 5/16-18 x 7/8 SHCS 13FA3327
4 5/16-18 ECONOMY T-NUT 15FA3501
15EX3030, 15QE3030, L
_ ANCHORING BASE PLATE
A Drill Thru & C-bore for

;a" 5/16" SHCS (4) Plecs

Drill Thru for 1/2"
= Floor Anchor

.

Great for anchoring your
frame to the floor!

See page xx for lag bolts

¢ Bolts on to end of extrusion or T-slot

Part No.

'‘A' Tap Thru
1/2-13

156BP2519

HARDWARE
INCLUDED!

Material:
Steel w/ Black Oxide Finish

www.faztek.net
-116-

e For leveling feet see page 234-235

e For tapping service see page 161



T-SLOTTED ALUMINUM SOLUTIONS V}:“"FAZTEK

15EX3030, 15QE3030, L

/\ BASE PLATE

/\\ 3.00 'l;YP

%
-~

_ ¢ Bolts on to end of extrusion or T-Slot
oril Thé‘ﬁ"ég i4B)O Eﬁczorym Part No. ‘A’ Tap Thru * For stem casters see page 228
15BP2585 3/8-16
15BP2563 7/16-14
15BP2583 1/2-13

For leveling feet see page 234-235

e For tapping service see page 161

RECOMMENDED HARDWARE FOR 15BP2587 3/4-10 RECOMMENDED HARDWARE FOR
MOUNTING TO EXTRUSION T-SLOT MOUNTING TO EXTRUSION END
Qty Description Part Number Material: Qty Description Part Number
4 5/16-18 X 7/8 SHCS 13FA3327 Aluminum w/ Clear Anodize 4 5/16-18 x7/8 SHCS 13FA3327
4 5/16-18 ECONOMY T-NUT ~ 15FA3501
/ \ 15EX3030, 15QE3030, L
BASE PLATE

HARDWARE
INCLUDED!

Drill Thru & C-Bore For 5/16

SHCS (4) Ples Bolts on to end of extrusion or T-slot

Part No. ‘A’ Tap Thru « For stem casters see page 228
15BP2515 5/8-11

15BP2511 3/4-10

% Material:
Steel w/ Black Oxide Finish

www.faztek.net
-117 -

For leveling feet see page 234-235

For tapping service see page 161




é:-':j-‘.-l:nﬂ'[l( FLOOR TO FRAME

15EX1515, L, 15QE1515, L
ANCHORING BASE PLATE

e .Y
3.00 - <
Part No. EXTRUSION
- 2.50 1.50
< i & > 15BP2553 | 1.5" x 1.5"
L . . G; 1
. o 50
757 e [
4 - Drill Thru for 1/2" Floor Anchor >
5/16" Spring Pin N
pring =
Clearance for 3/8-16
Leveling Foot Great for anchoring your

frame to the floor!

No fasteners needed for assembly! ¢ Includes 5/16" spring pin for proper

Spring pin is used for alignment, .
while the leveling foot fastens the alignment
base plate to the extrusion. Material ¢ For leveling feet see page 234-235
aternal.
Aluminum w/ Clear Anodize e For tapping service see page 161

15EX1515, L, 15QE1515, L
ANCHORING BASE PLATE

3.00 -
Part No. EXTRUSION
2.50
= >3 15BP2520 | 1.5" x 1.5"
<_ |
',' .50
75 I

Drill Thru for 1/2" Floor Anchor
5/16" Spring Pin

Clearance for 3/8-16
Leveling Foot

-

Great for anchoring your ¢ Includes 5/16" spring pin for proper

frame to the floor! alignment

No fasteners needed for assembly!
e For leveling feet see page 234-235

Spring pin is used for alignment,
while the leveling foot fastens the
base plate to the extrusion. Material: ¢ For tapping service see page 161
Steel w/ Black Oxide Finish

www.faztek.net
-118-



T-SLOTTED ALUMINUM SOLUTIONS

<~FAITEK

15EX1515, L, UL, 156QE1515, L

www.faztek.net
-119-

/\75 BASE PLATE
300 .- 225 300 ~
225 S O
' = P
757 g \‘;
75
‘\-.‘“-‘-I “'-l__
Drill Thru & C-bore For
5/16 SHCS (3) Ples
e For stem casters see page 228
e For leveling feet see page 234-235
Part No. 'A' Tap Thru . .
e For tapping service see page 161
15BP2588 1/2-13
15BP2589 7/16-14
RECOMMENDED HARDWARE 15BP2590 3/4-10 RECOMMENDED HARDWARE FOR
TO MOUNT TO EXTRUSION T-SLOT MOUNTING TO EXTRUSION END
Qty Description Part Number h « Qty Description Part Number
3 5/16-18 x 7/8 SHCS 13FA3327 FO UFSAES_I-I—SlA:igsE(')\gBLY 3 5/16-18 x 7/8 SHCS 13FA3327
3 5/16-18 ECONOMY T-NUT 15FA3501 . ‘J
15 SERIES FLOOR FIXING BASE PLATE
HARDWARE
INCLUDED!
P \\\
o ey
\ /— 3/8-16 Tap Thru
306 \ /
o -/ (2 pls

e Minimizes trip hazards on carts
» Adds strength to the frame work
e Clean Look



%S#FAZTEK FLOOR TO FRAME

15FF5814

15 SERIES
1.5"FLOORMOUNT FOOT

343 DIA.
(2) PLCS
.531 DIA. THRU
1.125 DIASPOT FACE
(1) PLC | i)
ff % NG
/ Use with 1.5" x 1.5" Extrusion
RECOMMENDED HARDWARE ol o
Qty Description Part Number 1 '501/ \-{/
2 5/16-18 x 5/8 FBHSCS 13FA3331
1 5/16-18 DOUBLE T-NUT 15FA3502

Foradditional fasteners and t-nuts, see pages 130-135

156FF5822

15 SERIES
1.5" ADJUSTABLE FLOOR MOUNT FOOT

E

HARDWARE
INCLUDED!

e Cast aluminum '
e Black powder coat finish
¢ Leveling/adjusting medium

duty tables and bases

www.faztek.net
-120-

]
an|

6.00

. 1
U‘]R 2.5" Leg Height
i) Adjus]ment




T-SLOTTED ALUMINUM SOLUTIONS “SFRITEK

™
15FF5816

15 SERIES
3.0" FLOOR MOUNT FOOT

343 DIA.
(4) PLCS

.531 DIA. THRU —

1.125 DIASPOT FACE
(2) PLCS

- o
—
RECOMMENDED HARDWARE 3.00 K__h_‘/75

Qty Description Part Number

4 5/16-18x 5/8 FBHSCS 13FA3331 Use with 1.5" x 3" Extrusion

2 5/16-18 DOULBE T-NUT 15FA3502

For additional fasteners and t-nuts, see pages 130-135

15FF5824

15 SERIES
3.0" ADJUSTABLE FLOOR MOUNTFOOT

i = i (E
13 I .
HARDWARE 2.5" Leg Height
INCLUDED! ! Adlus]ment

e Cast aluminum

* Black powder coat finish

e Leveling/adjusting medium
duty tables and bases

www.faztek.net
-121-



“~FALTEK

15FF5815

15 SERIES
4.5"FLOORMOUNT FOOT

343 DIA
(6) PLCS

531 DIA. THRU
1.125 DIASPOT FACE
(3) PLCS

1.00
RECOMMEMNDED HARDWARE
Qty Description Part Number
6 5/16-18 x 5/8 FBHSCS 13FA3331
3 5/16-18 DOULBE T-NUT 15FA3502

For additional fasteners and t-nuts, see pages 130-135

FLOOR TO FRAME

15FF5818

15 SERIES
6.0" FLOOR MOUNT FOOT

343 DIA.
(8) PLCS

.531 DIA. THRU
1.125 DIASPOT FACE
(4) PLCS

.75
5.00

RECOMMENDED HARDWARE
Qty Description Part Number
8 5/16-18 x 5/8 FBHSCS 13FA3331
4 5/16-18 DOUBLE T-NUT 15FA3502

Foradditional fasteners and t-nuts, see pages 130-135

www.faztek.net
-122 -

Use with: 3" x 6" Extrusion



T-SLOTTED ALUMINUM SOLUTIONS V}:“"FAZTEK

15FF5830

15 SERIES
1.5"x3.0" DELUXE FLOOR MOUNT BASE PLATE

“3-‘_? %‘

RECOMMENDED HARDWARE

Description Part Number ° MOU!‘T.I your frame to the floor quCkiV
¢ Stabilize your frame
8 5/16-18 x 5/8 FBHSCS 13FA3331 .
¢ Strong method of mounting your frame to the floor
4 5/16-18 DOULBE T-NUT 15FA3502 ° Easy vertical adjustment
L ]

Foradditional fasteners and t-nuts, see pages 130-135

15FF5833

15 SERIES
3.0"x 3.0" DELUXE FLOOR MOUNT BASE PLATE

Base plate slotted for additional adjustment

<
RECOMMENDED HARDWARE
aty Description Part Number ¢ Mount your frame to the floor quickly
L ]
: SR e J 2i?§:§?n§t)ﬁcr>g2;nriounting your frame to the floor
4 5/16-18 DOULBE T-NUT 15FA3502 ° Easy vertical adjustment
For additional fasteners and t-nuts, see pages 130-135 °

Base plate slotted for additional adjustment

www.faztek.net
-123-



%:»FAZTEK FLOOR TO FRAME

15FF5835

15 SERIES
1.5"x1.5" DELUXE FLOOR MOUNT BASE PLATE

- £
- -)‘5‘
.)\J“
s
AECOMMENDED HARDWARE
aty Desctiption Part Number ¢ Mount your frame to the floor quickly
L ]
4 5/16-18 x 5/8 FBHSCS 13FA3331 Stabilize your frame .
¢ Strong method of mounting your frame to the floor
2 5/16-18 DOULBE T-NUT  15FA3502 + Easy vertical adjustment
Foradditional fasteners and t-nuts, see pages 130-135 °

Base plate slotted for additional adjustment

15FF5838

15 SERIES
3.0"x6.0" DELUXE FLOOR MOUNT BASE PLATE

RECOMMENDED HARDWARE A
* Mount your frame to the floor quickly
Description Part Number e Stabilize your frame
16 5/16-18 x 5/8 FBHSCS 13FA3331 ¢ Strong method of mounting your frame to the floor
8 5/16-18 DOULBE T-NUT  15FA3502 o Easy vertical adjustment
¢ Base plate slotted for additional adjustment
Foradditional fasteners and t-nuts, see pages 130-135

www.faztek.net
-124 -



T-SLOTTED ALUMINUM SOLUTIONS @:"‘FAIIEK

15FF5850

15 SERIES
1.5"x3.0" DELUXE FLOOR MOUNT BASE PLATE

Mount your frame to the floor FAST FB?CRL%“;AEEE
Stabilize your frame :
Strong method of mounting your frame to the floor

Easy vertical adjustment

Base plate slotted for additional adjustment

15FF5852

15 SERIES
3.0"x3.0" DELUXE FLOOR MOUNT BASE PLATE

[ ] L ] L ] * °

« Mount your frame to the floor FAST HARDWARE
* Stabilize your frame INCLUDED!
¢ Strong method of mounting your frame to the floor

¢ FEasy vertical adjustment

Base plate slotted for additional adjustment

www.faztek.net
-125-



<~FAITEK

15FF5820

15 SERIES
LIGHT DUTY LEVELING FOOT

Ak

C-SINK FOR

FLOOR TO FRAME

M8x1.25

h
o B .,

1/4" FHSCS
* See page 161 for tap service
A COMMENDED HARDWARE ¢ |deal for cubical panels & office furniture
e Turn foot for 3/4" adjustment
QTY DESCRIPTION PART # » Black fiberglass reinforced nylon
4 1/4-20 X 5/8 FHSCS 13FA3111 e Zinc plated steel mechanism
¢ 330 Ib load capacity

Foradditional fasteners and t-nuts, see pages 130-135

FLOOR MOUNT FEET

Check Out These FAST
Floor To Frame Products!

¥
HEAVY DUTY
CASTERS

>

% __../”

LEVELING FEET .

www.faztek.net
-126 -



T-SLOTTED ALUMINUM SOLUTIONS V:‘S"FAZTEK

NA g FAZT E K Fast-Flexible-Functional

T-SLOTTED ALUMINUM SOLUTIONS

MACHINE BASES

— R

* Heavy-duty bases
* No welding

* Customize for
any application

* Completely Modular
* Strong & Durable

* Robotics, feeders,
other equipment

www.faztek.net

www.faztek.net
-127 -





